SEVA GDVM CHECKLIST

Assess Each Patient

1. WHAT IS THE CURRENT GOAL?
The primary goal only
[l Safety
L1 Comfort
L] Liberation

2. WHAT IS THE CURRENT MODE?
TA

‘o‘

3. WHAT IS THE LOAD?

] Elastic
[0 Resistive
0 Pmus

4. WHAT IS THE PATIENT-

VENTILATOR DISCORDANCE?

1 No patient trigger or evidence Pmus (stop
here)

1 Normal trigger

L1 Early trigger

1 Late trigger

1 False trigger

(1 Failed trigger

] Normal

[J Severe work shifting
(1 Over assistance

1 Normal cycle
L] Early cycle
[1 Late cycle

[J Normal passive expiration
L] Expiratory work

5. WILL YOU CHANGE
ANYTHING?

L1 Is ventilation within safe targets?

L1 Are high risk PVI present?

1 Is the mode serving the goal?

What changes are you doing based on this?

SAFE targets
Tidal Volumes 4-8 cc/kg/PBW
Driving pressure < 15 cmH-0
pH > 7.20
SpO2 88 % - 96%
Pmus 3- 15 cm H>O
PEEP per table or clear rationale

High Risk PVI
Early trigger
False trigger
Failed trigger
Multiple trigger
Severe work shifting
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